FDR RESTORATION WORK YEAR (2020-21)

GENERAL ABSTRACT OF COST

BLOCK:-	SHANKARPUR	DISTRICT	MADHEPURA
Name of Road	Construction of Road From Mi Mahadalit Tola via Ra		김지 얼마나가지 뭐라고 있게 되는 사람들은

S.No.	Description of Items		Amounts
Α	TOTAL COST OF RESTORATION	Rs.	499934.32
В	Seigniorage Fees	Rs.	21492.00
C	Add @12% GST	Rs.	59992.12
D	Add @1% Labour Cess	Rs.	4999.34
	Total (A+B+C+D)	Rs.	586417.78
	Say	Rs.	586418.00

J.E.

RWD(W)Div.Madhepura

A.E.

RWD(W)Div.Madhepura

E.E.

RWD(W)Div.Madhepura

Name of the last o	Details of M	easur	ement			
	कार्य का ब्यौरा Deatail of Workl	संख्या No.		iSekbZI Measurement		
			लम्बाई in m.	चीड़ाई In m	In m.	मात्रा Quantity
NAME OF V		al Rathar	Daves Te	Mahadalit	Tolo via	Pajendra V
tem No. 1	Sand Filling in ditch & breach portion of road	as per Dr	awing & Te	chnical Spec	ification.	najenora -
	Ch1.860 km	1	27	5.5	2	297.000
		1	16	5.0	1.8	144.000
em No. 2 :	Laying Brick Bat		1	otal (in Cum)	441.000
	Ch in 1.860 K.m.	1	29.5	3.50	1.0	103.250
	3.1 III 1,000 K.M.	1	_	3.30	0.2	17.820
		1	16	3.20	0.2	10.240
			T	otal (in Cum	1	131,310
em No. 3	Labour for cutting 62mm to 75 mm dia bambo	o piles to	eize and ma	king shoes	and	
	driving etc. complete job as per specification a	and directi	on of E/I	2,0,19		
	Ch1.860km	85	T		1.25	106.250
		0			1.25	0.000
		0			1.25	0.000
	For Bamboo pilling 1.25m					
em No. 4	Labour for fitting and fixing Split bamboo wove			Total (in m)		106.250
	job as per specification and direction of E/I Size 6m*2m, Ch km Ch km For Chachary 01 no. Bamboo=1.413 sqm	0 0 0	6 6	2 2 2		0.00 0.00 0.00
			1	otal (in sqn	1)	0.00
em No. 5	Labour for fitting and fixing 75 mm dia bambo with 150 mm long nails or 38 swg G.I. wire included as per specification and direction of E/I	luding cos				
	Ch1.860km	2	4			8.00
		0	4.3			0.00
		<u> </u>	2.9	Tatal (In a)		0.00
- N- C	Construct Rember et site			Total (in m)		8.00
m No. 6	Supply of Bamboo at site.		T	Total (in m		
			+		the state of the	263.00
				Total (in nos	1	43.83
						1 44.00
m No. 7	L. I. Siling and the same of the same with lookal s	and stite	hing the ba	as and placi-		44.00
em No. 7	Labour filling empty cement bags with loocal s including supply of sutli and EC bag etc. all co specification and direction of E/I	mplete as	hing the bas per approx	gs and placii ved desing,	ng	444.0
em No. 7	including supply of sutli and EC bag etc. all co	sand, stitc implete as	s per approv	ved desing,	ng	32.00
m No. 7	including supply of sutli and EC bag etc. all co	mplete as	Total	ved desing, (in nos.)	ng	
***	including supply of sutli and EC bag etc. all conspecification and direction of E/I Ch1.860km	mplete as	Total	ved desing,	ng	32.00
***	including supply of sutli and EC bag etc. all conspecification and direction of E/I Ch1.860km Supply of Nylon Crate of size 1mx1mx1m at si	mplete as	Total (i	ved desing, (in nos.)	ng	32.00 32.00
	including supply of sutli and EC bag etc. all conspecification and direction of E/I Ch1.860km Supply of Nylon Crate of size 1mx1mx1m at sinch-1.860km	32 ite.	Total	ved desing, (in nos.)	ng	32.00 32.00
	including supply of sutli and EC bag etc. all conspecification and direction of E/I Ch1.860km Supply of Nylon Crate of size 1mx1mx1m at si	mplete as	Total (i	ved desing, (in nos.) n % nos.)	ng	32.00 32.00 0.32
em No. 8	including supply of sutli and EC bag etc. all conspecification and direction of E/I Ch1.860km Supply of Nylon Crate of size 1mx1mx1m at si Ch1.860km Ch km	32 ite. 0	Total (i	ved desing, (in nos.) n % nos.) (in nos.)	ng	32.00 32.00 0.32
em No. 8	including supply of sutli and EC bag etc. all conspecification and direction of E/I Ch1.860km Supply of Nylon Crate of size 1mx1mx1m at sinch-1.860km	32 ite. 1 0 ocal sand, m) with learnplete as	Total Total (i 0.32 Total stitching the ead of 150 as per approximation in the content of	(in nos.)	ng	32.00 32.00 0.32 0.32

	1	er begreen teknika b	0.00
		Total (in cum)	1.00
	1nos=m3/0.034*25	Total (in per 25 nos.)	1.18
No. 10 Providing and Laura D.		The second secon	1.00
No. 10 Providing and Laying Reinforced Ce Row(1000mm Dia).	iment Concrete Pipe NP3 as p	per design in Single	
Ch	.0.768km 0 3	2.5	0.00
	The state of the s		A second second

Schedule of Quantity

NAME OF WORKS : Construction of Road From Middle School Bathan Parsa To Ma BLOCK SHANKARPUR

No.	SOR NO	OF ITEMS DESRIPTION	QTY	UNIT	RATE	AMOUNT
1	12.3	Sand Filling in Foundation Trenches as per Drawing & Technical Specification.	441.00	Cum	554.03	244327.32
2	A/R	Providing & laying Brick Bat			1	
		Providing and laying of Brick bat obtained from chimney with machenical means with all spreading, grading to required slope and compacted at OMC to acheive required density with all complete as per the direction of engineer in charge.	131.31	Cum	1856.19	243736.70
3	5.7.7	Labour for cutting 62mm to 75 mm dia bamboo piles to size and making shoes and driving etc. complete job as per specification and direction of E/I	106.25	m	27.90	2964.38
4	5.7.8	Labour for fitting and fixing Split bamboo woven chachari in position with 20 swg G.I wire or 75 mm to 100 mm long nails alternatively including cost of G.I. wire or nails complete job as per specification and direction of E/I	0.00	sqm	73.60	0.00
5	5.7.9	Labour for fitting and fixing 75 mm dia bamboo runners in position at every vertical pole with 150 mm long nails or 38 swg G.l. wire including cost of G.l wire or nails complete job as per specification and direction of E/I	8.00	m	5.00	40.00
6		Supply of Bamboo at site.	44.00	nos	158.44	6971.26
7	5.7.40.1	Labour filling empty cement bags with loocal sand, stitching the bags and placing including supply of sutli and EC bag etc. all complete as per approved desing, specification and direction of E/I	0.32	Per %	3300.20	1056.06
8		Supply of Nylon Crate of size 1mx1mx1m at site.	0.32	Each	42.20	13.50
9	5.7.40.2	Labour for filling empty cement bags with loocal sand, stitching the bags and placing in Nylon crate of size (1 m x 1 m x 1 m) with lead of 150 M including supply of sutil etc. at site in dry portion all complete as per approved design, specification and direction of E/I	1.00	Each	825.10	825.10
10	9.3	Providing and Laying Reinforced Cement Concrete Pipe NP3 as per design in Single Roww(1000mm Dia).	0.00	m	3762.90	0.00
+		Total			Rs.	499934.32

15-12-20

AE AE

EE 2200